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ECONOMICS (Paper 1)
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A k\g,yFés‘rloN,p,xpER SPECIFIC INSTRUCTIONS
P{asc@a\ft@gha [ the following instructions carefully before attempting questions.

There are)EIGIIT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH,

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at lecast ONE from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(b)
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1.(d)

1.(c)
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Qug ‘A’ SECTION ‘A’
Frafafes v@s w@ =1 I &F0m 150 =1 3§ afm

Answer the following questions in about 150 words each : 10x5=50

e 1 e & mifomm o aefimm gfesmn 6 gom = @ s wefifa =)

Compare and contrast Marshallian and Walrasian approaches of the stability in
equilibrium. 10

WG TR W@ H AR aKd ge qiy 6 Frew smma o 9w
wrfore wem §i feafa 1 = ot € |

Using generalised Lorenz dominance show that lower inequality represents a higher
social welfare state. 10

SR 9% U9 @Ed-=49 # yRadq & wen Ba sy =1 oden fifta |

Examine the relationship between business cycle and changes in autonomous
expenditure. ' 10

T GERI-IUR Fefi-fray & 2R 9t 589 At ® 7 ISeW AR wWEET |

Does government borrowing always crowd out the private investment ? Illustrate.

& o 10,
afe BER ST W R R P g@ 3 Al 1smaﬁmeﬁ§mw€lm&%\w&
T SRR TR e S @1 1S 9% 6 g qikafdd € e 4w sey s ?
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The slope of the IS schedule will become steeper ifithe govemnment reduces the rate of
proportional tax but will not chafige @l all if\the government reduces
the level of a lump sum tax. True or fa}sc\;{ Explain.
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% W W ) i
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S s SR A
Explain the differences between Cournot model of duopoly with similar product and
diffc;cnsiatcd_pmdjc:.
I
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What type of conjecture is involved in the existence of kinked demand curve ? Do you
think that kinked demand curve model is a price determination model in an oligopoly

market ? Justify your answer. 5+10
2(c) e R fir sl f sraen # wm, woEh @ wT, @ w6 i ¥
arg e war fira e e & affa 9§
Examine how profit, wage and rent in Ricardian system move differently with the
movements in level of income. 20
3  suim f& Pl wenn (sreemin wetwm) # W, SRk w@ st T
qfcias # W7 sea wa § |
Show that differences in underlying expectation lead to differences in Keynesian and
classical aggregate supply curve. 15
3.(b) m-wmwmm@mﬁﬁq%@-ﬁﬁﬁm-ﬁiﬁ
T T R ol R | T8 e # fiwa-wr ¥ ufy w aron @ w2 2
Apply the theory of liquidity preference to explain why an increase in money supply
lowers the interest rate. What does this explanation assume about the price level ? 15
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Explain how the weaknesses of Keynesian speculative demand for money have been
identified in Regressive Expectations model. 20

4.(a)  FH-ANR F TG A gC, Wenurd Qf 4 T B QT H, TFH F FAF THH-
gfd @ =gera Fifere | yenumd of @7 W @ 95 o @ @ e ?

Derive short-run aggregate supply curve following Lucas, when expectations are not
realised, assuming that labour market clears. What will be its shape when expectations
are fulfilled ? 10+5

4.() -G g-9fd Rgra = @69 % o fifte | = fige § fela 3§ age
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Describe high powered theory of money supply in brief. State the assumptions
made in its construction. 8+7

4.(c) Mﬁwﬁwmmmmﬁmﬁq&@w@ﬁ%ﬁ—mm-
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- - . - g '-\. -
Do you think that increase in Government spending, through lpo{{55u'q3g from public
accompanied by fall in required reserve ratio generates recession 'in the economy ?

Illustrate your answer : o“ Q‘: \ =
(i) in a closed economy with fixed eXchange rate.

(if) ~in an open economy '.G'i_}h\_ﬁx@.é\xg}mnﬁe rate and without any capital mobility.
ﬁ_\_ga . & 20

tJ22 ‘R
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5. Frmfoite e 3 1 SwR w150 v # i |
A‘hs(w@pe.following questions in about 150 words each : 10x5=50

\_{
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e 6t amen Fif |

Explain Rosenstein-Rodan’s view that economic underdevelopment is the outcome of

a massive coordination failure. 10
5() fom wEEmiE wve e qEee fee wer fififa fem s e @, sen fif |
Explain how gender sensitive human development index can be constructed. 10

5.(c) <z f& seifen = ) wama wnfva =3 3 /il e wehemw O qafien @ |
Show that the economic integration is the pre-requisite to establish covered interest
rate parity. 10
5(d)  awatas fafrm w fma g 3 ‘amR o f gata o 2 ? ==t difea |

Under what condition Real Exchange Rate is synonymous to ‘terms of trade’ ?
Discuss. 10

5.(¢) wmwﬁm%ﬁamﬁmmmmﬁmmﬁmﬂ%ﬁﬁﬁﬁa
® ? @rEn i | -

Do you agree whether sustainable use of energy ensures economic sustainability ?
Explain. 10
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6.(a)

6.(b)
6.(c)
7.(a)

7.(b)

7.(c)

!
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Evaluate Kuznets’ inverted U shaped curve hypothesis of income distribution. Does it
hold good for less developed countries as well ? 15

a1 AFE-GEN s 3y @ www R 2w Fif e Aama-gE- et S agr
ST wEA R | ‘

Does human capital cause economic growth ? Explain how human capital formation
can be enhanced. 15

we Fif fr e A aifead 3fy R @ IR N s oy T e E | AN -
R 3fg wiza o g weR A fear @ 7

Explain how Harrod’s warranted rate of growth is similar to Domar’s required rate of
growth. How has Solow improved upon Harrod-Domar’s growth model ? 20

IIYTH ISR H TR F §C H=REE-AmR # afsfa-amm F fage § =i
Hifau |

Discuss the theory of acquired advantage in international trade using suitable
examples. °

15
o 3 35 P & v 3 - o A i, B T g &
e eqait 1 e = ke A 2 7 oSty A e A
Do you think that movement of the nominal exchiange f-r‘alé'r.\o'f‘j Rufi‘ec ?eprescms a
corresponding movement of Indian goods visk-é-vi's\foréi.gn\“gboa‘s ? Explain your
position. <5 k—@ 15
FR-avei & fafim %ﬁmjﬂfﬁi??@axm?@z sreafaefa sderaeasit & fia
# § 7 o I A g fag g |

What are the diﬂ'c“n_:n'i cﬁlggdrie'g of trade blocks ? Are trade blocks beneficial to less

N Y. 0 B Nl s
developed économics!? Justify your answer. 20
N N W i
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8.(a) ﬁ\uﬁwﬁmm T AN-H R R TG o@ll ¢ A wWe Ry o wme-awa-
O

If the government raises taxes on labour income and interest income, explain how
potential GDP and economic growth are affected. 15

8.(b) & frot s (W) & T @ & TR e W aRSE-SaT 9 S9eE
w=|A & A | w1 wam €6, smen fifi |
() & == sdgaen R wogh § @
(i) T q% e afadaie wogd § @
Examine the effects of providing public service by a private agency at a lesser
price than earlier one on
(i) a closed economy with fixed wages. .
(ii) a closed economy with flexible wages. 15
8(c) W fagrm i e gr1 A T s w0 R 2 quisw R ¥, 3 Y R v
%ﬂﬂ?iﬁlwﬁaﬁﬁiﬁﬁﬁ, wrTTS-aa i a- R wema & G
W % faga = fag fen
What is Buchanan’s criticism of Arrow’s theorem ? Show how A. K. Sen proved
Arrow’s theorem without the overall consistency of social choice to avoid the criticism
of Buchanan. 8+12
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